Optellen tot 1000 (horizontaal)

490 + 611 =

679 + 145 =

631 + 801 =

T+ 122 =

8+ 11 =

708 + 50 =

806 + 838 =

559 + 490 =

169 + 901 =

720 + 980 =

Datum: Score:

459 + 528 =

748 + 716 =

159 +42 =

533+ 709 =

962 + 904 =

222 +235 =

318+ 554 =

64 + 524 =

698 + 662 =

897 + 484 =

www.snowmath.com



https://www.snowmath.com

Optellen tot 1000 (horizontaal)

490 + 611 = 1101

679 + 145 = 824

631 + 801 = 1432

7+ 122 =129

85+ 11 =96

708 + 50 = 758

806 + 838 = 1644

559 +490 = 1049

169 +901 = 1070

720 + 980 = 1700

Datum:

459 + 528 = 987

748 + 716 = 1464

159 + 42 = 201

533 +709 = 1242

962 + 904 = 1866

222 +235 =457

318 +554 = 872

64 + 524 = 588

698 + 662 = 1360

897 + 484 = 1381
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Score:
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